Simplifying Expressions (H)

Simplify each expression.

1. —9a-2-3-a° , 3023
6. — X -
Sx-x
2.7-(—62%) 772
( ) 7. =5 (—yz) 8-y
3. 6y-y*-3y?-3y? 8. —1-c-(—9)-(—2c)

2
W T T 9. —4x- (—5x") - 8x- (—4x)

5. —z-(—1)-9-(=92) 10. —a*- <—§25a>
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Simplifying Expressions (H) Answers

Simplify each expression.

. —9a-2-3-a° , 3023
:—54613 6. —X 'Sx-x

= —6x°
z-(—62°) -7z z
A 5 () 87

:40y4

L6y -y -3y 3y? 8. —1-c-(—9)-(—2c)
= 54y’ — —18¢?

_— . _— 2 . . —_—
7T 9. —4x- ( 55x) 8x - (—4x)
— 49,* = —640x

2a°

_— 2- —_
,_Z.(_lz).g.(_gz) 10. —a ( —2a2-a)
:—81Z :_a4
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